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Eg, an
infinite stream of bits 99.929394 (9:F) can be encoded eg. polynomials vs.

represent the plaintext bitstream as a apta,x+ any+axi+- .. ->Fallx]) polynomial functions
(formals eg. # = 90, 123 = 2/32

F((x]] = ring of, power series in x with coefficients in F.

eg .
f(x)= 2+x+ x* (x]
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expressionsinain F(x) = ring ofpoly talgas
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consider an input bitstream 100/X011110010... E

in x with coeffs !
I

which is encoded by the shift register above to
in F

obtain the output bitstream 101100101 ...
fr

, g() are
distinct poly's

Compare : this is equivalent to multiplication by 1+X+X :
but they represent the same

(1 + x+ x)()+x+ x+x5+x+x+ x9+y+m+ - ) = 1 + x+Y + x3 + x*+.
function #-#

Decoding of this data is accomplished using backward
shift registers eg.

eg . f(x)= F(x)

which performs division by 1+x +x in(x)



Multiplication by any rational function can be implemented using a single shift register e.g.
multiplication by A is implemented using the shift register
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